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B E K BE X (BrE# NO. 1
I & Al Al g - TR B4 BRERE | BERE m =
T
AET fEHIT (BRI m® 375.6 380
BRL BAEREIMUE [ m° 121.5 120
BRL BAERIFImLLE4mKH| m’ 30.3 30
R UTs) EHREEEE TkmEL T DIDE| m° 206. 9 210
AET

=ETEE
AEIJOvYy | BERYIRAILN—F] K 4 4
" WEEERAL M. ARLERBS00| AN 1 1
" ARERT 6900, BFEEAA - ri| A 1 1
" IREEEE AR M | A 1 1
i B (2320x2360%200) | # 2 2

EMT

FEAKS— b m2 207.3 207
R (BER) t=5cm m3 3.5 4
BRERE IERE m3 127.3 127
E@aryy—+k 18-8-25 m3 4.2 4
BEILZIL t=2cm m3 0.5 0.5
BREEAE |[BEUARE ($40~0)| m?2 38.9 39
B B - BHEEY m2 10. 8 11




# =2 L B T EHE NO. 2
I i& e Al FRA& - ~Tik B4 BREtHE | BENE W B
S5 D13 t 0.275 0.3
TEHT
+EBHT
FbFeiE BEL m® 10.5 10 |BAER
BB - BlkE
H 75 (H-300x300x 10x 15) | = 30 30
BE - HWE
KRR (1400 x 333 x 45) m2 196.0 196 |METEiE
RitTEEE
TERRE TERBRE | Ay OLBEERR | B 1.0 1 |BER
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T+ T&EEH B £ NO. 1
ST
{EEIT (FRJE) V=116.4 xW5. 0 xH4. 58 375.6 m®
BEL BABREIEAmELE BB ki
V=116.4xW5.0xH1.50 123.0 m*
mERAFLIEZER V=10.570’°x3.14x1.50 1.5 m?
&t 121.5 m’
BEL BAEREEImUEAmER  BBIERE (EH)
V= (L (0.980+0. 985) xW5. 0 xH3.08)) 30.3 m?®
RiusT V= (375.6-(121.5+30.3) =0.9) 206.9 m°
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AAT & £ NO. 1
KEJavs
EEBERYIRADILIN— N= 4 K NO. 3~NO. 6
seEEEE AL AT, ATLIETREA 6 900 N= 1 % NO. 1
AFLEIEH 0900, BFEERA Y — bt N= 1 K NO. 2
IHEEEE AR S FE N= 1 A NO. 7
ihEE
(2320 x 2360 x 200) RIL FEE{T N= 1 T1
(2320 x 2360 x 200) RIL FEE{T N= 1 #& 12
BKI— b+

A= (1.340x14.035x2)+(2.900 x 14. 035 x 2) + (5. 00 x 14. 035) + (1. 340 x 2. 900 x 4) + (0. 55 x 2. 32 x 2)

207.28 m’

2 (B t=bcm

V=15.00x%14.035x0.05 3.51 m®

V= (1.340x14.035% 2. 850 x 2)+(2. 320 x 0. 50 x 14. 035) +(1. 000 x 1. 560 % 0. 35 X 7)

it 127.30 m®

EFa U )—+F

V= (2.520%15.435-1.000x 1. 560 % 7) x0. 15 4.20 m®




NO. 2

Eﬂi:'ll;
Il

AAET

BEJLZIL  t=2cm

V= (2. 320 x 14. 435-1. 000 x 1. 560 X 7) x 0. 02 0.45 m®

Ba R BAEYARE ($40~0)

A= 15.435x2.520 38.90 m’

B SKE - MEFEEY
A= (2.520x0.15x2)+(15.435%0.15x2)+(1.00+1.56) x2x0.15x7)
10.76 m’
7330 REITRERREER ) SR 275. 452 kg D13

0.275 t
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TBHI ik e NO. 1
H 2 ] $TiA# - B5l3kE  (H-300 x 300 x 10 x 15) N= 30.0 K (L=9. Om)
W= 25.1 t (W=0. 093t/m)
HERFTIA TR, RO FEiE 450  V=0.225x0.225x3.14x9.0x 30 42.92 m’
V=42.92- (0. 12x9. 0% 30) 10.52 mw
HRR (1400x333x45) I E (16.4%2)+(5.0x2) L= 42.8 m
MmImis  42.8x4.58 A= 196.0 m2




